Warm Up

Given: Angle MOR = (3x + 7)°

Angle ROP =

MO 1 OP

(4x —1)°

Which angle is larger, angle MOR or angle

ROP?
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Complementary and
Supplementary Angles

&

| CAN...

* Define and identify complementary
and supplementary angles

* Write proofs involving
complementary and supplementary
angles



Complementary Angles

 Two angles whose sum is 90°

B
590 389
A

* /Ais complementary to /B

J C

O B

e /JOC is the complement of LCOB



Supplementary Angles

 Two angles whose sum is 180°
B

116° o4
A

e /A s supplementary to /B

/H
M A B

e /ZHAM is the supplement of Z/HAB




Definitions: If-then Form
QQQ ‘o A0°

* |f two angles form a right angle, then they are
complementary.

I Yo 186°

* |f two angles form a straight angle, then they
are supplementary.



Example 1

e Given: ZTVK s a right £
* Prove: Z1is comp. to £2 v ”

Statement Reason

@LTVK/\SO((-E—L (DG??\/Q/]

& [Tug + aye=ap @ ”AVSSW\QQ Lom ooi?jfam

(L2
@(ZID(DZP:]-@\LZ (3)TL 2 Ls o g (L & Tlop




Example 2

* Given: Diagram as shown /
* Prove: /1 is supp. to £2 - . -

Statement Reason
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Example 3

o

10

 The measure of one of two@plemm

angles is three greater than twice the measure
\___—-——‘\____
of the other. Find the measure of &3ch.
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Example 4

B0~ -

* The measure of the supplement of an angle is
60 less than 3 times the measure of the

complement of the angle. Find the measure of

the complement. Sepp = 186 - X
Suﬂo \ (DMP = QO"X
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Groups of 2

 Work with your partner to complete the proof
| give you.

* Write a paragraph proof.

* Be prepared to present your proof to the
class!!



* Given: Z1is supp. to £2
Z3is supp. to £2 /

1
3
e Prove: /1= /3 / \

2

Write a paragraph proof:



* Given: Z1iscomp. to £2

Z3is comp. to L2 \ \
N

e Prove: /1= /3

Write a paragraph proof:



* Given: LA is supp. to ZB
ZCis supp.to ZD
/B= /D

* Prove: ZA= /C

Write a paragraph proof:




V
B /

ZCiscomp.to ZD

/B= /D D\ C/

e Prove: /A= /C

Write a paragraph proof:



Theorem

(oM
* |f two angles are supplementary to the same

angle, then they are congruent.

* If ~1issupp.to 22 and 1 ] /
. /<o ) <o
Z3is supp. to 2, 3
then 21 = /3.
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Theorem

* |f two angles are supplementary to congruent
angles, then they are congruent.

e I[f LA s supp. to B,

A
ZCis supp. to 2D, A 7<) \
and /B =D ; -

then ~A = _C. /C >
‘s
e,



Theorem

* |f two angles are complementary to the same
angle, then they are congruent.

e If £1iscomp. to 2

1 >
and 3 is comp. to .2, \ \
Y

then 21 = 3.




Theorem

* |f two angles are complementary to congruent
angles, then they are congruent.

e I[f LA iscomp. to /B,

A
~Cis comp. to 2D, B/ .
~ D g
and 2B = D, \ C e

then <A = _-C.




Homework

e p.694#7,8,10,11, 16, 21
 Read Sample Problems on pages 77 & 78
e p.794#1,3,5,8,14



